SYSTEMATIC REVIEW 11E - LESSON PRACTICE 12B

19. (18)(v=36 +7i) = (18i)(6i+7i) =
(18i)(13i) = 23412 = 234(~1) = 234
20. @)NE) =326 = (1’ =1

Lesson Practice 12A

N () E= (6 -4002) _ —6+\28 _

2(1) B 2

62207 _ 5, 7

4. A?2-10A-11=0
(A-1)(A+1)=0
A-11=0 A+1=0

A=11 A=—

5. 2Q%+2=17Q
2Q%2-17Q+2=0

—(17) V177 -4Q@) _17+4273

2(2) 4

6. 5X2+15X+10=0
B)(X+1)(X+2) =0

X+1=0 X+2=0
X=- X=-
7. dr2_1pi3 9
4 2 2
152 1 3
4) L R%2_(4)—R+(4)2=(4)0
()4 ()2 +()2 (4)
RZ_2R+6=0
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8. 16X% =2X +4
8X% = X+2
8X2-X-2=0
o —(D2\C)*-a(8)(-2) _ 1:V65
2(8) 16
o x_-B):VB3'-4@(8) _ -3:J73
2(2) 4
10 v2=3v,2
4
(4)Y2 = (4) 3 y+(4)2
4Y° =3Y +8
4Y2-3Y-8=0
- (33 -a(a)(8) _ 3:137
2(4) 8
Lesson Practice 12B
Ly =0’ -a(8)(-3) _ 1x4o7
2(8) 16
2. 7=2X2+X
0=2X2+X-7
wo 01— 4@)(7) _ 12457
2(2) 4
_(-6) V(=6 —4()(3) _ 6+y24 _
- Q 201 2
615\/5 315
4, 2+3X+4X°=0
4X2+3X+2=0
o ~3)£6°-4(4)@ _
2(4)
3123 _ -3+i23
8 8
5. pP=P2-2
0=P>-pP-2
0=0P-2)(P+1)
P-2-0 P+1=0
pP=2 P=_1
ALGEBRA 2



6. X2+%X+5=o
(5)X2+(5)%X+(5)5=(5)0
5X2+X+25=0
o~ (1°-4(5)(25) _ -1+1/499
2(5) 10
7. 20X%+40X=30
2X2+4X =3
2X2+4X-3=0
2
o —@\(4)-4Q)(-3) _ 440 _
2(2) 4

—ax2i0 _ —2+\10
4 2

g x- -2\ -46)() _ 224 _

N 2(5) 10
2+206 _ -1+6
10 5
0. 3x% = _5X
3X2+5X =0
(X)(3x+5)=0
X=0 3X+5=0
3X=-5
X=-2
3

1o, —®)xyB)-4(A)C) _ —BxB2-4AC

2(A) 2A

Systematic Review 12C

1. X2 -5X+6=0
(X-3)(x-2)=0
X =3 X =2
5 yo —@z@’-40@ _
201
—41225 PN
ALGEBRA 2
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3.

X2 -3X+1=-6X

X2 +3X+1=0

. ~(3):VB3° =200 _ -3:\5
201 2

X2+4X-12=0
(X+6)(Xx=2)=0

X+6=0 X-2
5

=0
X=-6 =2

V- 4(2)(5)

2(2)

—2+4-36 _ —2+6i _

_ -1#3i
4 4 2

X2 +8X=-16
X2 +8X+16=0
(X+4)(x+4)=0

X+4=0 X=-4
169

2X2 +9X + —
divide through by 2:

|
—
N
=
H+

X2 + gX +—
2
complete the square:
81

2,9
X +?X+ 16

multiply through by 2:
2X2 4 OX + %

40X

214X
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12.

13.

14.

15.

16.

1y 4
X2+ X-2 =
+3 3 0
] 14
ety L4, 1
37736 T3 736
2
1 4002 1
X+—| = + =
( 6 3(12) * 36
2
1) _49
(X+6)_36
1 [a9
X+ — = |32
"% V36
1.7
X=odli?
6 6
__ 1.7 __1_ 7
X=-%*% X=-%"%
6 8 4
x=2 _1 x—-8__4
6 6 3
2 4
Vil m-2 -0
024 L) 4
1 4
]———:
t373 0
3 1 4
3,1 _4_9
37373
0=0
2
4Y 1( 4) 4 _
(_3)+3(_3)_3‘0
16 4 12 _
9 9 9 0
0=0

(x=A)° =1x6(-A)" + 6X°(-A) +
15x4(-A) 4+ 203 (<A +15x2(-A)" +
6X' (A +1X°(-A)° =

X8 - 6X°A +15X*A2 - 20x3A3 +
15X%A% - 6XA> + A®

HEN = om0

(5-2A) =
152 (-2a) +3(5/%(-2A)' +
3(5)'(22A)° +1(5)°(=2A)* =

125-150A + 60A% - 8A3
(x=2Y)
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17.

18.

19.

20.

1.

6+5i _ (6+5)(3Bi+2) _
3i-2  (3i-2)BBi+2)
18i+12+15%+10i _ 28i+12+15(-1) _
9i%— 4 B 9(-1)-4
28i+12-15 _ 28i-3
9-4 13

2+4-49 _ (2+-49)(2+1-49) _

2-V-49  (2-V-49)(2+4-49)
4+4/49 —49  _4544i(7)  -45+28i
4-(-49) ~  4+49 53

2(3+47)

2

3-47 (3-v7)3+7)

6+207 _ 6+27 _3+¥7 _5 7
7 1

2

9_
245 _ (2+45)(2/5 +4) -

25 -4 (25 —4)(25 +4)

45 +8+45 +2/25 _ 85 +8+2(5) _

4(5)-16 20-16
85 +8+10 _ 8/5+18 _ 45 +9
4 4 2

Systematic Review 12D

o —(9)£\(9-4@)(7) _ 9:137
2(2) 4

_(5)y(5)* —4()(=2)

X= 20) T2

3X24+7X+4=0
(Bx+4)(X+1)=0

ALGEBRA 2
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5. 5X2-3X-2=0 12 (10°=12(10)+20=0
(5x+2)(X-1=0 100-120+20=0
5X+2=0 X-1=0 0=0
5X:‘22 X=1 (2°-12(2)+20=0
X=-¢ 4-24420=0
) 0=0
6. 4X2 4 1= 4X
a2 4x+1 ; 13, (x+1)*=
— +1=
(2X-1)(2X-1) = 0 1XM0 4+ a3+ 6X22 + 4XB +1X0% =
2X—1=0 X4+4X3+6X2+:X+1
2X =1 4~3~2-1(i ) A
e 14, T 5 X (-3A)" =81A
2 3 0
, 25 15. (10—%) :1(10)%—%) ¥
T4 1 2 3
! (-5) #3000 (-5 ] 1007 ] -
L 3(10) < +3(10) < +1010) <
9. 25X%+ 41 1,ooo-¥+%-i3
divide through by 25: X=X
] 16. (Xx+2)
X2+7+— . Y2 )
25 17 4-3i _ (4-300) _ 4i-3° _
complete the square: 2i 2i(0) 21
x2q 2y o 1 4i-3(-1) _ 4i+3
T X s 2(00) =2
multiply through by 25: 18, 10+3-A _ (10+V-A)(104vA )
25X2+ 10X +1 10-v-A  (1o-v-A)10++-A)
10. 49X2-_ +4 100+20J-A —A _ 100+20WA —A
divide through by 49: 100-(-A) 100+A
oo L4 o, 9 _9lz-vho) _
— %9 7+10  (7+410)(7=V10)
complete the square: 63—9/10 _ 63—9/10 _ 2]_3/10
x2_ 4y 4 49-10 39 13
It'7| th 49hb 49: 20. 46 _ (4607 -s) _
mu Z'py rough by #2: 37 +5 (347 +5)(37 —5)
49X - 28X +4 1207 -20-3J42 +5/6 _
9(7)-25
1. X%-12X+20=0
(Xx-10)(x-2)=0 1207 -20-3/42 +5/6 _
63-25
X-10=0 X-2=0 1247 —20-3J42 +5/6
X=10 X =2 38
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Systematic Review 12E

1.

X2+2X-8=0
(x+4)(x=2)=0
X+4=0 X-2=0
X =4 X =2
X2-6X=-8
X2-6X+8=0
(x-4)(x-2)=0
X-4=0 X-2=0
X =4 X =2
2X2-15X+7=0
(2x-1(x-7)=0
2X-1=0 X-7=0
2X =1 X=7
Xl
2
3X°+4X =7
3X2+4X-7=0
Bx+7)(x=1=0
3X+7=0 X-1=0
3X=-7 X=1
x—_7
3
2=5X+X2
0=X245X-2
2
wo —6)£J6) -40)(-2) _ -5:433
201) 2
X2+2X-15=0
(X+5)(x-3)=0
X+5=0 X-3=0
X =-5 X=3
4X% + 28X+
divide through by 4:
X2+7X+
complete the square:
X2 47X+ 49
4

multiply through by 4:
4X2 +28X+49
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10.

11.

12.

13.

9X2 36X+ __
divide through by 9:
X2-4X+
complete the square:
X2-4X+ 4
multiply through by 9:
9X? 36X+ 36
36X2+ _ +25
divide through by 36:
X%+ _+ %
complete the square:
X2+ﬁ+§—g

multiply through by 36:
36X2+ 60X +25
81X2—  +121
divide through by 81:
2 121
X—_  + 31
complete the square:
22 121
X2 £E£X 420
9 " "8l
multiply through by 81:

81X%— 198X +121

X2+5X-14=0

(X+7)(x-2)=0
(7 +5(-7)=14=0
49-35-14=0
0=0

(2 +5(2)-14=0

4410-14=0

0=0

(2X+1) =

12%° 10+ 52%) 1+ 10(2%)° R+

102X B +52%)"1* +12x)°P =
32X° + 80X* + 80X3 + 40X2 + 10X +1
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14.

15.

16.

17.

18.

19.

20.

SYSTEMATIC REVIEW 12E -

2. (7P-4(B)=25

LESSON PRACTICE 13B

5.4(1 1 40
1—(§J - (27)X3(4) 27 real, rational, unequal
1
3 2( 3 2X°+7X+3=0
( j ( ):SX( 5)+ (2x+1(X+3)=0
3 3 +1= +3=
(-2 f (-2 - D=0 X0
9 27 27
X=X 5o X5 X=->
2x+1 3. (3°-4(-2)(6)=57
10+i _ (10+i)(i) _ 10i+i _ 10i-1 real, irrational, unequal
5i 5ii) 52 -5 , ’2
10 10(5+48) 504108 _ w- ~3)£VB)" -4(-2)(6) _ -3+y57
58 - B)l5 6] 258 o “
50+104v2 _ 50100242 _ 5042002 4 (-2 -4(3)5)=-56
17 aE 17{) 17 imaginary
2+3J6 _ (2+3V6)1+v6) _ (L) (2 -
V6~ (1-6)01+6) S
2+2f 3\/_+3 2+5\/6_+18 _ 2+2i14 _ 114
6 3
20+5\F 4+J_ =—4- \F 5. 7X2-3X =20
6 \f _ (_\f)(merg) _ 7X?-3X-20=0
103 -8 (1043 -8)(1043 +8) (=3)° - 4(7)(=20) = 569
60\/§+48(—;0\/6_—8\/5 _ real, irrational, unequal
100(3) - 64 2
23003 +24- 506 a2 _ e —(—3)1\/(—2)(7;4(7)(—20) _ 3i;/£5‘6—9
30064
203043 +24-5/6 - 42) _
236
30\/37+2‘:;§\/6__4\/27 Lesson Practice 13B

Lesson Practice 13A

1.

(6)-4()(9) =0
real, rational, equal (double root)

X?+6X+9=0
(X+3)(X+3) =

X+3=0

X=-3

ALGEBRA 2

1. 2R% = _5R+3
2R?+5R-3=0
(51 - 4(2)(-3) = 49

real, rational, unequal

2R%24+5R-3=0
(2R-1V(R+3)=0
2R-1=0 R+3=0
R=1
2
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